ENTHALPY CALCULATION EXAMPLE

Calculate the enthalpy change for the melting of 13 g of ice.

SOLUTION
H,0(s) = H,0(l) AH__,. = +6.03 kJ/mol H,0
mHzo - 13 9 Tfhe molar enttf:alfpy f(;r.the:(nelting
of water can be found in reference
tTahht:epsc;sitive value means heat is
absorbed (endothermic).
Step 1
Calculate the amount (in moles) of water.
N - My20
- n = amount in moles
Heo MHZO r|\r/]| == maTs
g
~ 18.02 g'mol™
= 0.72142... mol
Step 2
Calculate the enthalpy change.
AH = N A,
= (0.72142... mol)(+6.03 kT mef™)
= +4.35016... kJ

Therefore, the enthalpy change for the melting
of 13 g of ice is +4.4 kJ.



